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What is the result of the operation above?

[ULUDAG UNIVERSITESI-YOS 2018]
A)-x* B)x® Ox"” D)-x"

E) _ X“]




28x+1 i ?

fow92 Jlgw

0<x.,5 =a :M=?
5x+1 . 5
B)5(a+1) CO)3(a-1)
E)5(a-1)
UNIVERSITESI-YOS
2017]

A)3(a+1)
D)-5(a+1)
[ONDOKUZ  MAVYIS

‘g2 Jlgw

X2B2IS

x sayisi kag basamaklidir?

How many digits are there in x?
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esitligini saglayan x sayilarinin toplami
kagtir?

What is the sum of the number of x that
provide the equality?
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What is the equivalent expression of the
expression above?
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a=35,b=N625 , c=2125

a, b ve c sayilan icin asagidaki siralamalardan
hangisi dogrudur?

Which of the following order is correct for
numbers a, b and c?

Ala<c<b B)c<b<a C)c<a<b

D)a<b<c E)b<a<c
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ifadesinin x turinden ifadesi nedir?
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What is the value of in terms of x?
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Asagidaki siralamalardan hangisi dogrudur?

Which of the following orders is correct?

Ax>z>y B)y>z>x Oy>x>z
D)z>y>x E)z>x>y
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Yukarida verilen jigsaw sudokuya gore.

According to the jigsaw Sudoku given above,
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x asagidakilerden hangisi olabilir?

Which of the following could be the ralue of x?
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Teacher
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0 5'0 $ Student

Sekildeki grafik bir okuldaki 6grenci sayisinin 6gretmen sayisina gore degisimini gostermektedir. Buna
gore, 125 ogrenci icin kag 6gretmene ihtiyac vardir?

The graph in the figure shows the change of the number of students by the change of the number of
teachers in a school. Accordingly, how many teachers are needed for 125 students?

A) 4 B) 5 C)6 D)7 E)8

(,1)9.4.; 5 a)u'.gT U;.._u U““:‘-{j .ZL)ILJ y

Population(million)
&

60
55

45

40 ;

35 t .
30

25

0 ; . p Time(year)
(=1
=
—

1950
1970
1980
1990
2000
2010

Yukandaki grafikte bir iilkenin niifusunun yillara gore degisimi gosterilmektedir. 2000-2010 yillan arasindaki nifus
artis miktannin, 1960-1970 yillan arasindaki artis miktar: ile ayni olacag séyleniyor. Buna gore, 2010 yilindaki niifus
kac milyon olacaktir?

In the graph above, the change of the population of a country is shown by years. It was considered that the amount
of population growth in the years between 2000 and 2010 would be the same as the amount of population growth
in the years between 1960 and 1970. Accordingly, how many million would the population be in 2010?

A) 45 B) 50 C)55 D) 60 E) 65
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Yukaridaki grafik, bir 6grencinin haftalik uyudugu saat miktanim gostermektedir. Bu égrenci ortalama
kagsa. ak uyumaktadir?

The graph above shows the daily sleep hours of a student during a week. How many hours a day does
this student sleep in average ?

A) 6 B) 7 C)8 D) 9 E) 10

K L M N P
Yukaridaki situn grafiginde verilenlere gore L'nin miktar: toplam miktarin yiuzde kagidir?

According to ones given in the column graph above, what percent of the total amount is the amount of
L?
A) %5 B) % 10 C) %15 D)%20 E)%30
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Dort arkadas bir tepsi baklavay: sekildeki gibi paylasmiglardir. Aldiklan paylara gare asagidakilerden hangisi dogrudur?
Four friends shared a tray of baklava in portions as in the figure above. Which of the following is true about the portions they've
got?
A) Meral'in payi, Hakan'in payindan azdr.
Meral's portion is less than Hakan's portion.
B) Ayse'nin pay, Ali'nin payindan fazladir,
Ayse's portion is more than Ali's portion.
C) Ayse'nin payi, Meral'in payina esittir.
Ayse's portion is equal to Meral's portion.
D) Hakan'in payi, Ayse'nin payina esittir.
Hakan's portion is equal to Ayse's portion.
E) En biiyiik pay Ayse'nindir.
Ayse has the biggest portion.

6Jtd”

. . . L i . a_b ¢ d

Sekilde verilen dairesel grafik, bir memurun yilhk masraflarimn dagihimim gostermektedir. 5 = g = = = E
olduguna gore, asagidakilerden hangisi yanlistir?

The circle graph given in the figure shows the distribution of annual cost of an officer. If, %: % = % =% which

of the followings is false?
A) Gelirinin % 40 nin biriktirmektedir.
He saves 40% of his income,
B) Gelirinin en az kismim giyime harcamistir.
He spent the least portion of his income on cloth.
C) Beslenme giderleri birikiminden fazladr.
Food expenses are more than savings.
D) Gelirinin %15 ini kira bedeli olarak odemektedir.
He pays 15% of his income on rent.
E) Gelirinin en fazla kismini birikime ayirmustir.
He puts the most part of his income on the saving.
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equal
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arithmetic
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consecutive

en kugugii

smallest




1Juad ol )3 ) g vl
Sayi: x / A number: x
Sayinin 5 fazlasi: x+5
5 more than a number
Sayinin 4 eksigi : x-4
4 less than a number: x-4
Sayimin 2 kati: 2.x
2 times a number: 2.x

Sayinin yarnst: *
2

Half of a number: *
2

Saymnin 2; 2x
S b

2 of a number: 2¥
5 5
Sayinin 3 katinin 2 eksigil: 3x-2

2 less than 3 times a number: 3x-2
Sayinin 6 eksiginin 4 kati: 4(x-6)
4 times of less than a number: 4(x-6)
Sayinin 10 fazlasinin 1. x+10

4
l of a number increased by 10: :‘J'_lo
4 4

2 x
; Saym:ng ‘iiniin 4 fazlasi: ?+4

4 more than 2 of a number, 4: E+4
3
. |ki sayimin toplami; x+y

The sum of two numbers: x+y
. |ki sayimin fark:: x-y
The difference between two numbers: x-y
. |ki sayimin garpimi: x.y
The product of two numbers: x.y
. |ki sayinin orani: £
y
The ratio of two numbers: *
y

6 fazlasinin 3 kat1 126 olan sayiyi bulunuz,

When a number is increased by 6 and then multiplied by 3, the result is 126.

Istenen sayiy: x denirse,

If the number is called x, )2 dlaz ailg> 0gz0 (g3 Raz
6 fazlasi / When it is increased by 6: x+6 Lo a3l jJUT
6 fazlasinin 3 kat: / When multiplied by 3: 3.(x+6) Can0)d k)i (55,5 (e )d

3.(x+6) oldugundan / Therefore, oae p ey ol oo 5o
x+6=42=5x=36




5 katinin 5 fazlasi 29 olan sayi kagtir?
5 more than 3 times a number is 29. what is the number?

A)6 B)7 C)8 D)9

Hangi sayinin 3 fazlasinin 2 kati, aym sayinin ii¢ katinin 2 eksigine esittir?
Twice of 3 more than which number is equal to 2 less than 3 thmes the same number?

A)4 B) 5 C)6 D)7 E)8

3 eksiginin 3 kati, 7 fazlasinin yarisina esit olan say1 kagtir?
What is the number in which 3 times of 3 less than it is equal to half of 7 more than it?

A)5 B) 8 c) 18 D)21 E)23




AJed

Bir sayimin 2 katinin 3 fazlasi, ayni sayinin 4 katinin 7 eksigine esittir. Buna gore bu sayi kactir?
3 more than twice of a number is equal to 7 less than 4 times of the same number. Accordingly, what is the
number?

A)4 B)5 C)6 D) 8 E)10

1 1
g'nin 5 fazlasinin g ‘i 201 olan say kagtir,

lof 5 more of % a number is equal to 201.

What is the number?

A)2500 B)5000 €)10000 D)20000 E)50000

N 4

Pozitif bir tamsayinin 1/3'tinin 2 fazlasi ile aym sayinin 1/3’'tniin 2 eksiginin ¢arpimi 45 ise bu say: kagtir?
If the product of 2 less than 1/3 of a natural number and 2 more than 1/3 of the same number is 45, what is this
number?

A)20 B)21 C) 22 D) 23 E)24




3 eksiginin karesi 16 olan pozitif sayi kactir?
The square of a positive number decreased by 3 is 16. What is this number?

A) 4 B)5 C)6 D)7 E)8
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Chapter 1 Geometry

Parallel lines intersected by a transversal
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ai8h) paos; z Hislw a8l puass U glo)lislw

X+y=a+b+c a+b+c=2%180=360

>d,

a+b+c+d=3*180=540




AOE = 120 = BOD =?

DBE + BDF = 140 = BCD =?
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A ] 8
Sekilde, m(COD) = 90°, m(ADC) = 2x, m(DOB) = 3x
olduguna gére, x agisinin Sigiisii kag derecedir?
A)lI5 B)l6 C)17 D)8 E)20

Erz ©loyes

a 0
a,p.o, ;'§=i = as?7

A)60 B)72 C)80 D)% E)I108

[0AL [OB, m(AOD) = m(COD) = x m(BOC) - y
y-X=15%= x=?
A)65 B)70 C)75 D)0 E)85

0 » M(ABD) = 5m(CBD)
= m(EBD) = ?

B c
A)30 B)4s C)50 D)54 E)75

[BAVICOD
m(ABC) = 38°
m(8CE) = 80°

s ll(ﬂ)- a=7?

A)128° B)130° C)131" D)132° E)I33°

m(DEC) = 110°
m(AED) = x
m(AEB) =y

= y=-X=?

A)30° B)35° C)40° D)45° E)50°

[EF) //[BC)
m(E’fB -0
m(ABC) - 40°
m(FAC) = p
m(ACB) = 70°
-» ﬁ- a=7
A)30 B)40 C)50 D)60 E)70

d/id
m(ﬁ) = 80°

-mtﬁa.mtﬁﬂ-a-?
o]

A)5  B)JI0 C40 D)50 E)I00



1Saw

d, il d,
dy/idy '

s (ABC) = 110°
m(ABC) = 100° e ¢
gt m(BCD) = 20°
m(BCD) = 140° g
m(EDC) =
c =»-0=?
A)50 B)70 C)80 D)I10 E)130

nl‘l‘l(c‘a‘é}-u-?

d, /i d,
fﬂﬁ!15’
méﬁé’) - 65°
m(ABC) =

a=?

A)70 B)80 (O)100 D)I10 E)I120

d, /' d,
m(ABC) - 110°
m@)-w dyfidy
m (DEF) = 60° m(ABC) - 140°
m(EFG) = 140° m(CDE) - 80°
I'I'I(C'BHE] - - m(ﬁ a=?

_ ~a-? A)30 B)M40 )50 D)0 E)70
F T

A)I0 B)20 C)30 D)40 E)S0

dyfid,
mu’a“c)-zo'
i d,0d,

m{DEF) = 70*

mﬁ,.1w m(@)-ﬂ!ﬂ'

= M(BCD) =x=? m{8co) - 70°

= M(COE) wax=?

A)60 B)70 C)80 D)I00 E)110 A)150 B)120 C)110 D)I00 E)90




>,

DOSaw

dy/iidg
m(ABD) = m(CBD)
m(CED) - m(DEF)
m(ﬁ)-ﬁo‘

.m(&)-u-?

dy/idy
mm:m-an@:o}
m(CEF) = 2m(DEC)
m(BDE) = 40°

= m(B’é‘E)-a- ?

A)20 B)40 C)60 D)80 E)I120

(BA /[DE

[BC] ve [OC] aiortaydir.

(BC] and [DC] are angle

dild, >y-x=?

A)30 B)35 C40 D)45 E)60

(o LoSuww) 205

d,/id;
m(ﬁ-zx
mﬁﬁ)-:!x
m(BCD) - 100°
wX=?

A0 B)I5 €20 D)25 E)30

dyfidy
m(ABC) = m(CBD)
m(ﬁ)-*lm"
m(CEF) = 20°

;: > d, = M(BCE)=a=7

C)70 D)60 E)S0

ENE

m (ABE) = m (CBE)
m(COF) = 20°

m (BEF) = 140°

= m(BCD) = a = ?

e

C)B85 D)% E)I00

dy 714,
[EF] L [FD)
m{ABC) - 50°
m(FED) - 70°
m(CDF) = m(FDK)
dl:':‘E = 2 il eaat
A)90 B)80 (C)70 D)60 E)s0




= m(@’-s ?

m(ADB) = m(SOC) = y,

m(DOE) = m(EOF) =x,

m(ﬁ)-14§'. ]

m(BOD) = 140" = m(COD) = ? m(AOE) - m(COD)
5 mooashe

= m(COF) = ?

A)110° B)120° C)125° D)130° E)140°

A)50 B)60 C)I100 D)110 E)I30

m (AOC) = m(COD)
m[D'a'E)-m(EBHB)
= m(COE) =7

A)l5 B30 C45 D)60 E)75
A)30 B)60 C)90 D)I120 E)IS0

m(ﬁclzw
m(ﬁb}-m{ﬁa‘ﬁ)
m(ﬁ:}-mﬁ)
= m(ﬁS‘F)- 7

A)50 B)60 C)65 D)70 E)90




d, 1,
dy /i dy
m(GEF) = X~ 55
-
m(ABC) = 2x +10°
a2X=7

d,/id,
dyiid,

m(A‘Eé) = 50°
~ m(DEF) = a=? a, 14,

dy /7 d
a+b=45°

=a=-b=7

A5 B)45 C)60 D)75 E)85

dy/id,
dg/fd,

m(ABC) = 2x

m (EDF) - 3x
= M(GHK) = x = ?

dy /id,
dalidy
m(AOB) = 50°

-m(&)-an?

A)I130 B)I00 C)60 D)50 E)40
A)20 B)30 C)40 D)50 E)60

dy/d;
[ABJ/[DF
m(ACB) = 75°
m(KEF) = 35°
M(Dﬁ) -X

m(ABF) = 100°
- =m(ABC) -y = ?
m(ECB) - m(BCD)

= M(FBC) =a = ? A)25 B)30 ()35 D)40 E)45

d,/d,
dgllds

A)40 B)45 C)50 D)55 E)60




